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Unit 4:

Lesson 02 Solving perimeter and area word problems

Perimeter is the total distance around a closed figure.
L

Perimeter of a rectangle: P 2aW+17 L

Perimeter (circumference) of a circle: @ C=2T"

Perimeter of a triangle: /57/\ H=a+ b +c
b

Example 1: The length of a rectangle is 9 ft more than its width. Find the length if
the perimeter of the rectangle is 54.

2w +:2?3+: ?) = 54

W 2w Faw H+HI® = 54
Lw = 36

‘*%W_:éé_.’ u.}:'-?

4 ; —wi9= 9+9=|/&

Example 2: The circumference of a circle is 10 inches more than its radius. What
is its radius?

C Lnor= TH+/0
@ LI N = =T+ /05=
2 myr-r = /D
G.apr—Iiv =70

g8 = /0

SRV . 18 . =) 9979 ¢
v T B (i Y R
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Example 3: The three sides of a triangle are x + 2, x + 4, and x + 7. If the perimeter
of the triangle is 49, what is x?

X 242 X+7+ X+4 + Kt 2 = AT
X+ 3% 415 =47

3 X 4751 = M7
IX = 24
X _ 36
. .
X =[Z

Area of a rectangle: " /_ A= LeWw

Area of a circle:

A= 77 r*

Area of a triangle:
/‘EN A= & b-h

< b

Example 4: Find the radius of a circle if its area is 32mt.
rE = 32
WM _ o32%
2SN 7F
-t = 37
76 finel, tatce J
= J3z —|S.656854
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*Example 5: A rectangle’s length is 8 and its width is 2 less than its area. What is
its width?

3 P =L fea a:av‘eﬂ
a-a=w 87’“1\— a
Fa-/6 =4a

&a ~rent-Mo= A+ 16
Sa —-a = &+l

W= ag-21
2] — lq-"'_ ‘2.’
AT T 7 w= &

Example 6: What is the height of a triangle if its base is 20 and its area is 100?

:/2 Lzbh — avea
: 1L 20k = /°0
2.0
/o h = /9P
roh _ o0
ro — /@

h = /0
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Assignment:

1. The width of a certain rectangle is 2 less than its length. If its perimeter is 96,
what is its length?

2. The circumference of a circle is 2 more than three times its radius. What is the
radius?

3. The length of one side of a triangle is x. Another side is two more than x while
the third side is one less than x. If the perimeter is 13, what is x?
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4. Arectangle’s width is 4 less than its area while its length is 19. What is its
width?

5. What is the base of a triangle whose height is 10 and whose area is 1607?

6. If a circle’s area is 180m, what is its radius?
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7. If one side of a rectangle is 4x + 1 and an adjacent side is 3x + 4. What is the
value of x if the perimeter of the rectangle is 38?

8. If all three sides of a triangle are equal (it’s an equilateral triangle) and the
perimeter of the triangle is 180, what is the length of each side?

*9. The perimeter of a particular circle is equal to its area. Write the equation
that expresses this equality and then solve for r.
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